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Which idea from the
selection supports this
summary statement?
Summary Statement:
An individual robot may
be trusted.

The bugs in Snug as a Bug
in a Book eat different things
than the butterflies in the
poem. What are two
differences between what
the bugs eat and what the
butterflies eat? Include
information from both
selections in your answer.

Is the following
statement True or
False?

The Sky is Green

Item Analysis Test Structure - Sheet 3, with Sample Text
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A
Multiple ’ 1 B
Choice
C
D
Blank
Mult
1. Writer attempts
to make a claim or
state a main idea.
Claim does not
Scored relate to the 4 4
Answer text(s). 2. The
writer states a
minimal claim or
main idea. Claim
relates...
True ’ 1 T
False F
Blank
Mult

Assignment Item Answer Choices

Optional

Allen was Bean's best

friend.
Allen was missing for

several days.
Allen was responsible

for doing chores around
Allen was responsible
for saving Bean and his
Blank

Mult

Incorrect Answer

Correct Answer
Blank
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FALSE
FALSE
FALSE

TRUE
FALSE

FALSE
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Optional

TRUE

TRUE

TRUE

TRUE
FALSE

FALSE
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